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General Instructions :

1. There are 25 questions in all. All questions are compulsory.

2. Marks are indicated against each question.

3. Write the question number as given in the question paper while answering a question
in your answer book.

4. Question number 1 contains 10 (a to j) very short answer questions of 1 mark each.

5. Questions from serial number 2 to 14 are 3 marks questions. Answer of these questions
should not exceed 80 words each.

6. Questions from serial number 15 to 23 are 5 marks questions. Answer of these questions
should not exceed 120 words each.

7. Question number 24 and 25 are map questions of 3 marks each from Geography and
History. After completion, attach the maps inside your answer book.
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T Fem 1 ¥ W (a ¥ j) o qg-Sud WA ¥ YoE T 1 3% w6 g
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1. (a) Name the two metals that form brass. Yat+1p=1

TH < ergen & AW fafey S dae sEen S 22

(b) State any two human factors that determine the utilization of land in

a country. Yat+1p=1

9 H 9 & ITR 1 FER0 FE 9 FiE A AEET FwRE T
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(c) Which two sources of energy are obtained from sedimentary rocks? Yat+1p=1

TS FEHl W ol & HiA-H T HWid 9w B 22

(d) Which two qualities of Anthracite coal make it the best quality of coal?  Y2+V2=1

feh < TN & FROT RS HiFe oo oreR alel hiael Hecdl 87

(e) Write one major reason that forced the British to relocate their capital
from Calcutta to New Delhi in 1911. 1
SIS AR 1911 H Fhetehadl % M W % Kool ol 3T JS1€M a9
1 Toh YHE hRU {dfEm)|

(f) Who was the second Governor - General of Independent India? 1

. A
HdA YA <l U e ST <his 1?

(g) Mention any two features of India's foreign policy. Yat+1p=1

o

IRa &t fager Hifq =t fe=i < favroast &1 S sifsu)

(h) The state of Uttrakhand suffered a massive earthquake and required
money for relief and rehabilitation. Name the fund from which the
President of India could sanction money to the Central government for
carrying out rescue work in Uttarakhand. 1
SWEE TF Fl 98 Y9 W gHT ¥ BH Al &fd & e we
TSTl ed & [T STEE i AETIS AU a1 Iard i STewdehdl
off| 3§ HE™dl H1Y 1 9 Faet Fod 4 9Rd & U@ @M &5
TEHR H SATCE § o= HE Bg TG B AR < ST Fehell 2

(i) In case of internal armed rebellion, which type of emergency can be

declared by the President of India? 1
Aqafr v fagie & <WE, 9Rd & Tgufd <o fRd R D
STaTehTe = feerfa wifoq w7 ST TRt €2

(j) State any two examples of a civil case. Yat+1p=1

o gheH & s d 33 fafau)
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2. Differentiate between extensive agriculture and intensive agriculture under

the following headings - (i) yield (ii) market (iii) mechanization. 6x12=3
fAfafed SgR W 9% HfU T Ted $ & A8 FR TR DT -
(i) T=ER (i) TR (i) TR

3. 'The lithosphere consists of loose surface material called soil'. Mention any

two main components the soil consists of. 192+1%=3
el Hea (fasiewer) 4 el we amult wite et 2, 59 9a1 wer S
B g1 % Tl < 7@ ekl F Seo@ Hifew)

4.  Explain the process of generating hydroelectricity. 3

qfeSTell 3¢ i i UfhAT hi RS hilSIT|

5. Analyze any three reasons due to which the world is facing energy crisis today. 3x1=3

fori T RO 1 Soor@ Sifse 59 gRumaeasy favg &t adaq 999 |

ST Hehe 1 HHAT HEA U @ &

6. Describe any three major contributions of Shri Narayana Guru to reform the
Indian Society. 3x1=3
ARATE T 1 G & fau o e % a) ke U &9 9q@ areEt
1 T HifSy|

7. "The nineteenth and twentieth century marked the beginning of urbanization

of Delhi under the British". Justify the statement with any three relevant
arguments. 3x1=3
“HUSH W % SAdid el dqen sftwel wel H o feeedt % sedeor &l
I g3l S e ol TRl i 3faa Tohl AN e 3edsUl

8. "The British sowed the seeds of communal hatred and divided the two
main religious communities in India". Do you agree with this statement?

Write two relevant incidents to support your answer. 1+2=3

“ ST A HiISIfeh TR W ool S SR 9RA % < qEA @fiie SEEl i
faafora < fam” & o1y 39 woH U HeHd €2 o0 SW & gHeH § i
T ST e [T
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10.

11.

12.

13.

14.

15.

Analyse the Dual System of Government in Bengal to prove that the system
benefitted the British but adversely affected the people of Bengal.
amel | el I qunell % oo g ww fag wifs fR 39 gomedt
STUST Rl @ &9 Tgd1 T aMd & Al TR Ul Fidehd 49& T

Explain any three powers of the Prime Minister of India as the Head of the

Government.

TEHR & U@ & ® § IR & GOHHA i gl 9 Rl i e

|

Explain the procedure of making a law in the Indian Parliament.

ARA GHE | A 991 1 Fishal Sl SAEAT HifsT|

Who elects the Vice President of India and how? Mention any two main

functions that she / he performs.

o Y A o ne q
YR & SIS 1 FAE i HT © qU1 HA? ST fh=l q qg&a FwrEt

T ST HifSU]

Highlight the role of the Supreme Court of India as the guardian of the

Indian constitution.
AR Gf98 o E&fh o €9 H 9Rd & Fdied =A-ed i iHET hl ISR
TS|

What is Prevention of Atrocities Act 1989? List any four offences punishable
under this Act.

TOEAT (SEMER) 1 Usherd Afef=m, 1989 1 22 39 Afuf=y & efaiq
3 ol Thgl 9 S Tl ol Felas hitea|

Examine any five factors that have contributed to the growth of Bengaluru,

as an IT city of India.

IR & Teh Gl FANTehT (3T &) TR & ®9 H, S7cqe & fa o e
9 o TRl 9= HRehl hT &0 SHifSC
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16. Study the following bar graph that shows the growth of population in India

from 1951 to 2011 and answer the questions given below :
At R W 1 SAEAEH HIST S 1951 H e 2011 T WA i
SEE Jfg i Wi g1 SE % MR W A KU T v % Sa) e
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Growth of population in India from 1951-2011

1+1+3=5

(@) Find out whether the growth rate of population was positive or

negative between 1991 to 2001.

1991 ¥ T 2001 & o9 SFEEA gfg R ThRHE off a1 THRHS |

(b) Find out and write the years when the growth rate of population was

lowest & highest.

3 98 o forel STa qRd § SIS 1 e e gad 1 3R g9 2114 @

(a) State three reasons for the increasing growth rate of population in India

since 1951.

1951 ¥ 9RA § SHEEN i dgdl gfg R & 99 R fafew

17. Why has it become very essential to conserve water? Suggest any three

methods that can be adopted to conserve water.

2+3=5

Sl w1 Gl faia erferd I @ T @2 Wl % G ¥ hiE diF SuM

HHARU
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18.

19.

20.

21.

22.

23.

24.

Explain the developments in the final phase of freedom struggle till 1945
that led to India's Independence.
qRA ! Waadl KA |, 1945 T SRS &1 TSR & AqH =)0 | gH ol

SZATShHl ohl TS hiTSIu|

Assess the successful working of Indian democracy since independence.

A ok € T YR Alhdd o %ol T ol 3Teheld hifsIg|

What were the different methods adopted by the British to establish and
expand their empire in India? Explain any five.

STUST G 9RA § STO1 96 T1TUa i qef 3Heh =R 8q ST T i
*F ¥ 97 fFEl a1 Seo@ st

Identify any two reasons for which Lok Adalats have been set up in India.

Explain the nature of their working.

ORd H ek 3TEAIdl ol T fohT SH & @iz & Rul Al i ASmerdl

1 HEAYOMSAT T U HifSC|

Who identified the Other Backward Classes (OBCs)? Which communities come
under them? Examine the basis of their identification?

=1 fose ol 1 wgwH fRea *1? 39 3fatid -4 THIE 3 €2 STt
T & STER 1 GAeT0 Hifd|

Why is the Union Parliament of India considered as the most powerful

legislative institution? Explain.

qRd o G 99 bl el vifaaeent faemh Swen = " S 82 Sooie
I

(i) Two features (A) and (B) are marked on the given outline political map
of the world. Identify these features with the help of following information
and write their names on the lines marked on the map.

(A) Animportant Bauxite producing country in South America.

(B) An important Cotton textile manufacturing country in Africa.
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25.

(i)

On the same political map of the world, locate and label the following
with appropriate symbol :

(©) Venezuela - An important Iron producing country.

fergel & ST e W= W & aI&701 (A) @1 (B) ST U &) == &
Te GOl & ¥R W I IgAIHT a1 379 Hal 919 AFf== § el T
el W fafey -

(A) ST STHRIRT W T HEqUl dioTge 3caReh ol

(B) STHIhI %1 THh Hecqul ¥l a& fafar 3o

o

Ru Tu ‘fava & 39 qeHifae AFta’ W Fefated & s9ge faeal

g fK@EmEy qur 39& 9™ fafem)
(C) AT - Teh HE@YUl SR IARH 0

For visually impaired students only in lieu of Q. No. 24
UH 247 WM W had gie difua faenfodal & fau derfeas wom

24.1.Name an important coal producing country in North America.

24.2. Name an important Iron and Steel manufacturing country in Europe.

24.3.Mention an important copper producing country in South America.

24.1. 3R 3THRH H TH HEAYUl HF IcdReh <91 H1 AW fafemu)
242,909 H T Heaqul dig iR geq i s At <9 % Am fafem)
24.3. 301 STHRHT H Tk AUl qla1 SISk 3T T Ieei@ I

(i)

Two features (A) and (B) are marked on the the given outline political

map of India. Identify these features with the help of information

given below and write their names on the lines marked on the map :-

(A) The place where moderates and radicals reunited and signed a
joint pact with the Muslim League.

(B) The place associated with the Jallianwala Bagh Massacre.

On the same political map of India, locate and label the following place :

(C©) Maharashtra - The state where Jyotibha Phule started the Satya
Shodhak Samaj.
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(i) 9RA & U MU e @ TAfes W I A0 (A) T4 (B) IIMT T
EA I 1 AR S 1 A S T | C e E et | L ) B ol r M 1= R
R Sl T et  fate|
(A) 8 TIM el SN IR THA drell 1 GAfHe e den gieem

o % WY Th G THd W &R g

(B) Sferararel a1 TREER & W Foig M

(i) TR 7T 3 ‘gerifaes e i’ w) fEfateaa @t sifea wifsa qen
3Heh M fafem -
(C) HERIE — 98 I09 &l SAldy Fel 4 Icd INeh 9 & fhar ol

Alternative question for visually impaired students only in lieu of Q. No. 25
UH. 25%h WM W shad gie o faenfdat & fau denfeues aoa
25.1. Where did Gandhiji break the salt law?
25.2. Where did the Congress split - up into moderates and radicals in 19077
25.3.Name the place to which Periyar E.V. Ramasamy belonged. 3x1=3
25.1.7ERSH 5 THF A el o7 fHar o
25.2.1907 § SENEIEAT T TH <A & &9 H, HiUH H1 faweH fma wom
W g3 a1
253,39 TIF 1 W fafay el § WfER . e &1 dag ol
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World-Political (FHR-TSHITdeh)

Roll No. (TshHIh)

Map for Question No. 24 (

24 & fou AEfa)
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Roll No. (3TshHI)

Map for Question No. 25 (4.8, 25 & fou amfes)

India-Political ( TRA-TSTHITdeh )
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